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kS 125cc
1 [ EE A 08905 9lcc- 900 324 320 10,368 1,700 668 GC3-437
125¢cc
1 [ E T | 09105 91cc- 900 324 320 10,368 1,700 668 KT2-608
E:l 125¢cc
2 S E R 09312 9lcc- 1,800 648| 32,0 20,736 3,400 1,336 H5H-356 ~ H5H-
E:S 125cc 357
1 [ EER 09403 91cc- 900 324|320 10,368 1,700 668 H5M-023
E 125¢cc
1 g B E AR 09608 9lcc- 900 324|320 10,368 1,700 668 . 233-CAU
E 125cc
3B E A 09803 9lce- 2,700 972 320 31,104 5,100 2,004 773-GZR ~ 775-
B 125¢cc GZR ~ 776-GZR
1 [ mE A 09811 91ce- 900 324|320 10,368 1,700 668 290-HAD
E:8 125¢cc
2 [ A 09906 9lcc- 1,800 648 320 20,736 3,400 1,336 181-HET -~ 180-
E3 125¢c HET
1Y NEHE 09601 | 180lcc-| 11,230 6,210  1,716] 320 54,912 34,000 2,483 1299-SW
2400cc
1REE15.1 09902 | 2401cc- 4,500 5940  2352| 29.0 68,208 25,500 13,145 0419-XW
WAL _E) 3000cc
7leEB e 09812 Hith 11,900 3,045 655-QEQ ~ 656-
QEQ - 657-
QEQ - 658-
QEQ -~ 659-
QEQ - 660-
QEQ - 661-QEQ
GHl 15,730| 25,650 278,640 96,900 28,693
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05 -4
06 #8222 FUERI] 163 1,242 4,100 5,505
07 (£ Rt BAR TS
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09 PAEIEAEETR
10 2 ~ K~ 0~ 75 1418 1,493
11 R~ BB RS
12 B ESBIE 429 9,146 65 9,640
13 E AR TS
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15 H Atz
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